R —Tk1 (A4F#R)

SRl T 3HY
Paig T3 FKGE K B RS R 3 (WIAEEKY)
BOKIFER 9:00
JROK KERBRRER (L)
A OXE &R . ‘ 7Ih) % O% iy <~ "
KR pH . il Ji wE | 4 FS " fi
C C JE mg/L mg/L mg/L mg/L mg/L mg/L
1 B 15.1| 6.4 16.3 7.77
2 2 15.3] 6.7 15.5 7.70
3 W 14.8] 6.6 22. 4 7.71
4 M 5.4 6.8 12.0 7.78
5 & 12.6] 6.7 11.5 7.79
6 = 8.9 6.8 11.5 7.80 43.9 51.9 112 8.7 0. 60 0.12
7 W 7.5 6.6 10. 6 7.80
8 & 3 T 10.3 7.73
9 I 8.8 7.3 10.7 7.78
10 1.2 6.9 12.4 7.69
11 M 9.5| 7.3 11.3 7.81
12 2 13.9] 7.6 25.1 7.78
13 4.9 7.7 10. 6 7.75 40. 5 49.1 83 7.9 0.61 0.12
14| 12.3] 7.6 12.6 7.76
15 2 1.2 8.0 11.0 7.69
16 ™ 10.1 7.5 9.5 7.78
17 W 9.4 7.5 9.9 7.83
18] W 9 7.5 7.0 7.84
19 L7 7.8 7.5 7.71
20| Hi§ 23 8.0 6.9 7.85
21| H§ 2.1 7.7 7.5 7.81
22| M 15.6| 8.5 6.8 7.83
23| i 17.3| 8.5 6.1 7.79
24 2 16.1| 8.5 5.7 7.77
25 Hi§ 15.9] 9.1 4.6 7.82
26| I 21.6] 9.5 7.4 7.82
21 2 16.9] 9.5 4.8 7.82
28 2 20.9] 10.0 5.5 7.82
29 2 12.2| 10.3 4.8 7.57
30 12.9] 9.1 4.8 7.76
31 2 9.0 .5 4.6 7.70
D] 12.2 .9 9.9 7.77 42.2 50. 5 98 8.3 0.60 0.12
e 21.6] 10.3 25.1 7.85 43.9 51.9 112 8.7 0.61 0.12
S 5.4 6.4 4.6 7.57 40. 5 49. 1 83 7.9 0.60 0.12




R —Tk1 (A4F#R)

af T 3H 4y
Paig T3 KB K B BB R 3 (WIAEEKY)
FAKIRERT 9:00
HooK KERBRRESR (Bl/Ki)
A RfE | XRE ; . Tvh) & ORE | hHw < .
K B pH i il Ji I % e E
°C C & mg/L mg/L mg/L mg/L mg/L mg/L
1 B 15. 1 7.5 1.3 7.22
2 & 15.3 7.9 0.8 7.24
3 W 14.8 7.9 1.5 7.27
4 5.4 8.0 1.0 7.33
5 & 12.6 8.0 1.2 7.37
6 & 8.9 8.0 1.5 7.29 40.0 51.8 96 12 0.07 0.03
7 M .5 7.9 1.0 7.31
8 & .3 8.3 0.7 7.27
9 M .8 8.5 0.7 7.29
10 W 11.2 8.0 0.5 7.29
11 ™ 9.5 8.3 0.7 7.30
12 2 13.9 8.6 0.7 7.34
13 HE 14.9 9.0 0.8 7.27 38. 1 49.3 83 11 0.08 0. 04
14 W 12.3 9.2 0.5 7.26
15 £ 11.2 9.6 0.4 7.20
16 W 10. 1 9.0 0.4 7.26
17 W 4 9.0 0.4 7.39
18 W .9 8.8 0.5 7.33
19 W 7 9.0 0.6 7.31
20 Iy .3 9.5 0.6 7.38
21 I 12.1 9.0 0.5 7.45
22 Iy 15.6 9.8 0.5 7.38
PRI 17.3 9.5 0.4 7.37
24 = 16. 1 9.7 0.2 7.38
25 I 15.9 10. 4 0.4 7.38
26 I 21.6 11.0 0.7 7.45
271 & 16.9 11.2 0.4 7.33
28 & 20.9 11.8 0.6 7.38
29 & 12.2 12.2 0.5 7.53
30 Iy 12.9 11.2 0.5 7.64
31 & 9.0 11.1 0.3 7.32
NS5 12.2 9.3 0.7 7.34 39.0 50. 6 90 12 0.08 0. 04
4] 21.6 12.2 1.5 7.64 40.0 51.8 96 12 | 0.08 0. 04
AR 5. 4 7.5 0.2 7. 20 38. 1 49.3 83 11 = 0.07 0.03




